
 

                                                           Magnetic Monopoles 

We consider the relation  

 

 ------------------------------------------- (1) 

In flat spacetime, 

B F  -------------------------------- (2) 

Again 

B g g F  

 ---------------------- (3) 

Now if we transform from flat spacetime to curved spacetime, the left side of the last two equations 
transform to the left side of the first equation. Consequently  the right sides of the last two should 
produce the right hand side of (1) 

Considering the transformation from equation (3) to (1) we have 

B g g F F   


       

Again from (1) 

1
B F 


 


 

This inconsistency means that the quantity defined by equation (1) does not represent physically the 
transformed magnetic field. 

But if we define: 

B F   

Then, 

1)There is no inconsistency as such. 

2)We have  0 B  
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